Physics 9A Section A Discussion Questions: Week 4
Question 1:  Hammering a nail
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[image: http://www.webassign.net/pse/p6-11.gif]Question 2: Ball swinging in a circle revisited
i: Assume a ball is swinging in a circle, on a rope that is 2m long. If the angle it makes is 40 with respect to the vertical, how long does one revolution take? 
ii: Now another identical rope is attached to the ball, as seen in the figure to the right. What is the tension in the lower string, if the ball swings at a constant 7m/s and has a mass of 3.50 kg?
Question 3: Block on an Incline
A 8.00 kg block is on a ramp angled at 40.
i: If the block is stationary, what is the coefficient of static friction between the block and the ramp? 
ii: If the block, rather than being stationary, accelerates down the ramp at 1 m/s2, what is the coefficient of kinetic friction between the block and the incline?
ii: To accelerate the block at 2 m/s2 up the ramp, what horizontal force must be applied? Assume the same coefficient of kinetic friction as in part (ii). 
Question 4 (if time is available): Two hanging masses
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4.46 - CP A nail in a pine board stops a 4.9-N hammer head from
an initial downward velocity of 3.2 m/s in a distance of 0.45 cm. In
addition, the person using the hammer exerts a 15-N downward force
on it. Assume that the acceleration of the hammer head is constant
while it is in contact with the nail and moving downward. (a) Draw
a free-body diagram for the hammer head. Identify the reaction
force for each action force in the diagram. (b) Calculate the down-
ward force F exerted by the hammer head on the nail while the
hammer head is in contact with the nail and moving downward.
(c) Suppose that the nail is in hardwood and the distance the ham-
mer head travels in coming to rest is only 0.12 cm. The downward
forces on the hammer head are the same as in part (b). What then
is the force F exerted by the hammer head on the nail while the
hammer head is in contact with the nail and moving downward?
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5.85 o= Two identical 15.0-kg balls,

each 25.0 cm in diameter, are suspended
by two 35.0-cm wires (Fig. P5.85). The
entire apparatus is supported by a
single 18.0-cm wire, and the surfaces
of the balls are perfectly smooth.
(a) Find the tension in each of the three
wires. (b) How hard does each ball
push on the other one?

Figure P5.85





